Permutation and Combination - Class XI

Related Questions with Solutions

Questions

Quetion: 01

Number of positive integral solutions satisfying the equation (x1 + x + x3) (y1 + y2)
=177, 1is

A. 150

B.270

C.420

D.1024

Solutions

Solution: 01

(a:1+:):2+a:3)(y1+y2) =77T="7x11

=11x7

Ny +xo4+23=7 y1+ys=11

Number of solutions = "~1C3_; x 1710y ; = 150
2l + 20+ 23 =11 Y1 + Y2 =7

Number of solutions = =13 _; x "~1Cy_; = 270
. Total solution = 150 + 270 = 420

Correct Options

Answer:01
Correct Options: C



